Math 1501 Exam 1 Fall 2013
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1. No books or notes are allowed.

2. You may use ONLY NON-GRAPHING and NON-PROGRAMABLE scientific calcu-
lators. All other electronic devices are not allowed.

3. Show all work to receive full credit.

4. Write your answers in the box provided.

5. Good luck!

Page | Max. Possible | Points
1 20
2 18
3 20
4 22
5 20

Total 100




1. Find the domain of L (’c = 1)

. Express your answer in interval notation.(10 pts.)
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2. For what z-values is the function f(z) NOT continuous? (10 pts.)
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3. Use the graph to answer the questions. (3 pts. each)
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4. Let f(z) = vz — 1, and note that li_)rr% f(z) = 2. Find the largest § for which

lz—5]<éd = |f(z)—-2]<1.

(10 pts.)
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5. For what value of a is the function g(z) continuous at z = 27? (10 pts.)
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6. Find the derivative f'(-1) using the definition of the derivative, where f(z) = 2.
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7. Suppose f(zx) satisfies f(4) = 2 and the derivative of f(z) is f'(z) = ﬁi What
is the equation of the line tangent to the curve y = f(z) at x = 47 (10 pts.)
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8. Suppose f, g, h are all functions from R to R, and that f(1) = f(2) =3, g(1) = 2,
9(3) =4, h(2) =1, and h(3) = 5. Find the following: (2 pts each)
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9. Find the limits. (4 pts each)
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